Potencias de 10 (H)

9,146 =100

9,373 100

7,768 100

2,031+ 100

4,504 =100

9,316+ 100

3,865 =100

3,047 =100

7,785 + 100

8,515 =100

Calcule los siguientes cocientes.

1,432+ 100

2,053+ 100

8,169 =100

3,724 = 100

4,693 = 100

7,62 =100

0,773 + 100

6,015+ 100

6,333+ 100

0,76 =100
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Potencias de 10 (H) Respuestas

9,146 + 100
0,09146
9,373+ 100
0,09373
7,768 = 100
0,07768
2,031+ 100
0,02031
4,504 = 100
0,04504
9,316+ 100
0,09316
3,865+ 100
0,03865
3,047 + 100
0,03047
7,785+ 100
0,07785
8,515+ 100
0,08515

Calcule los siguientes cocientes.

1,432+ 100
0,01432
2,053+ 100
0,02053
8,169+ 100
0,08169
3,724+ 100
0,03724
4,693 = 100
0,04693
7,62+ 100
0,0762
0,773+ 100
0,00773
6,015+ 100
0,06015
6,333+ 100
0,06333
0,76 + 100
0,0076
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